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1 |dtmE B BIHAL | BEEIE zbhrd=fsn| 281, 201 19,230 [14.62[ L[ L L] LlLv]AlBl=|BlA[-]T-TAlA]lB|lc|[—-]TA]—-]cC
2 |deiEE B ‘IRALL B3I LsLbhb 434,915 119,032 [ 365 L[ L L fLrlLr]BlAlBIB[B|B]clcIBlc|[A]-IB[=]C
3 it 250 ‘IRALL BN FPBH 229, 438 53,922 | 4.5/ L|{L|L|LriLr]BlBl—-]A|lB|A[B|A]|B|JCc|—-]Cc|]A|[B]C
4 |dtEE Z=50 FIHAWL KER HTLESDH 42,228 31,684 | 1.4/ {L|L|riLr]BlBl—]A|lB|A[B|A]|B|[Cc|—-]Cc|]A|B]|C
5 |dtiEE dEZ=H BIHAWL | FIATBR (2523 h| 177,719 24038 | 71.39[ L [rfrlr]ur]B]BlB[BlCc]c[B[B[B]lCc[B[B]IB][A]C
6 [dtimE Z=H ‘IRAL MHERR (255480 h| 346,788 93,027 | 3.73/L|L|L|LriL]Bl—[B|B|lCc|B[B|A|]A|[Cc|c|c|B|—-]C
JEREE:3E =it FIHAWL HAREDR (HAECDESH | 270,038 113,624 [ 2.38[ L[ L L fLL]AlAlBIB[B|Blc]A]JA[A]-]IB[B[B]C
8 |dtEE =3t FIHAWL ERRR =&Lch 362, 044 149,896 [ 2. 42l L[ L L [L]L][A]lAlB]IB[IB|lA]Jc]A]JA[A]-]IB][B[B]C
9 |dEE] HBHESmEB BIHAL [#AFPIDR i BELEFDEH 31,866 25,519 1.2 Lfrfrlr]ur]B]lBlBlAlB]IBlc[A[B]lclc[B]A]C]C
10 [demE| HERE ‘IRAL LR 5£AELNED 61,683 45934 [ 134 v]LrfLrlrlur]B]B]IBlAlB]|BJc]A[B[c]c]B]A[c]C
11 |dmE| BSmis ‘IRAL FIEDIR [ FLIEDSH 68, 201 33,655 | 203[L[rfrlr]vr]BlBlBlAlB]IBlCc[A[B]lclc[B]A]C]C
12 [deiEE =8 ‘IRALL flikin 5N R 435,794 50,216 | 7.36[ L [LfLrLr]ur]B]l—-]-]Alc]Bl=-Jc|[B|[B[=-[-TA]-]C
13 [demdE|  E)ishE BIHAWL [¥oRE 9 TiPARE253Mb 34, 260 30,629 | 112l L [rfrlr]L]AlAlAlATATAl=-TAJA][B][c[B]A]C]C
14 |demdE|  ElildE ‘IRAL 2ER < AfEIFE4 | 1,475,049 142,977 [10.32| L | L[ L[ L] L|AJA]JA|JA[A[A]|-]A[B|[A[B|IB|A[A]A
15 [demdE|  E)ilshE ‘IRAL maR THLVEH 345, 301 81,300 [ 424 L [LfLrlLr]Lr]AlAlAlAlTATA]=-TAJA][B[B[B]A]C]C
16 [demdE|  E)ildhE BIHAWL | BEFERR T (v < zasozbnyns 82,243 61,540 | 134 L[LfLrlLr]Lv]AlJAlATATATA]=-TJTAJA][B[c[B]A]C]C
17 [deEE]  E)ImE BIREAIL [ FvLrRF—BirzeTE—Ce5| 216,210 189,728 [ 114l lvLvAal=-TAlB]|B|B|[-]A][Blc|[-]A[A|B]C
18 |dtidE| EJIFES ‘IRAL BTER DR HRADEH 107,164 69,530 | 1.4 Lfrfrlr]vr]AlBl=[BB]IB[-JAlAlCc[=-[B]A][-]C
19 [demdE| #BEFER ‘IRAL /R BEhDEh 65, 242 28,845 | 226/ L[LfLrlr]vr]B]BlB[BIB]A[B[A[B]JCc[BfJc]c|c]|]c
20 |dtimE| MEDED FIHAWL = U&L 211,764 96,150 [ 2200 L[ frr]vr]Al=IB[BBlclcl]AlAlc|[-JTAJA]JA]C
21 [deimsE| WBESE ‘IRAL 2R FA40 577, 352 50216 | 9.5 LfLrfrlrv]ur]B]l—=IB[BlAJclc[B[B]lc[B[B]A][A]C
22 [deimsE| HWBESE ‘IRAL BEF Blré 128,149 116,721 [ 1ol LrfLrlrlur]Bl=]IB]IBlA]lA]Jc]B[B[c|[B]c][A[A]C
23 [deimE| HWEES BIHAWL | 9FOEE i5&5250mL] 192,626 19,230 [10.02l L [LfLfLlLrIBl=]B]Blc|Blc]A]JA[-]JclclA[=-]c
24 [deimsE| HWEES ‘IRAL N bhL&S 122,518 63,498 | 1.93[L[Lrfrr]vr]AlBlB[BlcIB[B[B[A][=-]Jc[B]A][B]C
25 |[dbimsE #1175 58 ‘IRAL E B LABWNRD 90, 400 88,022 | 1o3[Lfrfrlr]lvr]Bl—-1-TAl=-IB[BlA[lAlA]=-[B]A]-]C
26 |dtimE #1178 58 ‘IRAL ELR SHLH 652, 474 205,064 | 318 frlrlrvlvr]Bl=-]-1TA]l=-IB]=-1TA]BJ[A[-]T-]TA]-]C
27 |dtimE S &R ‘IRAL BA BEE 118,163 66,211 [ 1.8 L[rfrlvr]r]A]l=IB[BlA]IB[=-JA[A[A]c][c]A]B]C
28 |[duimsE #IEE 2R ‘IRAL fichs) HWEFEY 112, 320 45,703 [ 246l L] LLLlL]A]l=IBIBlA]JA]-TA]JA]A]Jc]-TA[=-]C
29 [deimsE|  +BEEE FIEAWL 26K IZCw 55 TAED 75, 409 66,663 | 113 L[Llrlr]r]A]l-T-TAl-Jcl=IBlA]lB[=-]-TA]-]C
30 |dbimiE| +EEEE ‘IRAL SEDR  hLHADSH 68,514 47,13 14l v]rlrlrlr]al=T-TAlB|lA]-TAIB[B][-]—-TA[=-]C
31 [deimE|  +EEEE FIEAWL EBEDIR SESDEh 27,145 21,857 [ 124 Lfrfrlv]ur]Al=-1T-TAl-T]Tcl=IBlAlc][=-]=-TA]-]cC
32 |dtimiE| +EEEE FIEAWL S ] LeS3F0LES 53,153 49,489 [ 107l Ll ]Aal=-T-T1AlBlA]-IBlAJc]-]T-TA[=-]CcC
33 |dtimiE| +EEEE ‘IRAL FDR SL\DEDH 63, 360 4985 [ 1271 Ll ]Aal=-T-T1Aal-]lc]l-IBlAJc]-T-TA[=]CcC
34 [deimE| +EEEE ‘IRAL A VA LIFARD 93, 259 4985 [ 187l LLfLlLrlLr]Aal=-T-TAlB|lA]-IBlAJc]-]T-TA[=-]CcC
35 [deimsE| +BEaE ‘IRAL JNEDR ihbhH#DEH | 151,373 96,175 [ 157/ Lfrfrlr]uv]B]l—-]=-[Blc]Blcl]AlB][B[-[-IB][—-]C
36 [dbimE BRAE BIHAWL | YRV | BARDAD [ 494, 191 98,202 | s.03[L[rfrlr]vr]AlBlBlAlB]IBlc][A[AlA]c][c]A]Cc]C
37 [duimE BRAE ‘IRAL HmRR WH5DEh |2, 754, 257 215,503 [12.78[ L [rlrvlrv]vrB[B]BlA]lB[Blc]|A]JA]JAlc]c|A]Cc]C
38 |dtimE %5 FIHAWL = TALA 353, 712 118,603 [ 298 L[ L L fLlL]Al-=-T-TAlB]-]-TAlB[A][B]-]A[=-]C
39 [dmE %5 AR ERER 0FY~oBAtA| 2, 238, 239 240,35 | 931 L]l Lv]Aal=TAlBlAlB]-A][BlA[-]-]B[—=-]c¢c
40 [dtimE %5 BIRAIL (BB EE) | e @ 96, 847 19230 [ s.o4l LBl =]BlBIB|l-]—-TA]lA[-]-1-1IB[=-]C
[SIE#:35 =i BIHALL [BRE (BEID) is<ives suap | 174, 301 80,586 [ 216/ L {L|LlLr]L]AalB|l—-[B]BlA][B[A]lA[B[B]c][A][-]C
42 |dtimE ES ‘IRAL (e MRED 68, 205 50,216 | 1.5/ L frfrlrv]uv]B]lBlBlA[B]c[B[B][B]lAJc[c][B]c]|]cC
43 [dtimE ES EIRALL FxIE)1I 3L YUsHhH | 107,552 43,268 [ 249 L LfLfLlLr]IBlAJAlTAIB|lA]IB]IBIB[C][A]JA]JA]C]C
44 [dtiEE JbZE4n FhA KHPVNFREDR | Losvnuiasnacissoss] 192 130 41,080 | 468/ L |L|L|fL|L|B|l—|B|B|[B|B|C|[A[B|A|—|—[B|—]|C
45 |deimiE| REIERER | BFKMERL %A BbHLL 400, 768 103,168 [ 3.8 L[ LLlLlLr]—]-1-IBlA]l-TA]l-1T-1T-1-1—-1IB[=-]C
46 |dtimE Z=50 RELHEE =¥l HLARD 296, 821 1306 [2270]LL]LlLlLr]—=1-1-1IB]l-1-1TA]T-1T-1-1-1T-1lTcl[=]c
47 [dtimE Z=50 RELHEE 2RR Wh#HEh 210, 933 19,230 [10.97] L Ll —=1-1-1B]l-1-1TA]T-1T-1-1-1T-1lTcl[=]c
48 [dtimE dLZE %0 BRZHmEHE] #FHATH 125D 3, 647 1,800 [ 203[ L]l ]=-1-T-1IB]l-1-1TA]l-1-1T-1-1-1B]—-1]cC
49 |dtimE| BEmEsd |RE#mERE| BSmap | OfEAGAS | 297,914 28,845 [10.33[ L[] ]=IBlB[Bl-1T-1TA]-T-1-lTcl[=TA]-]C
50 [deigsE| ENIAEER [BRE#MEE| L7l - 8F (LD -4kA[ 204,832 2413 22[LfLrlr]r]rv]AlBl=[B[B]AJc[A][B]Jclc[B][B[B]C
51 |dtim&E =B RELHEE =i e 51,065 40,883 [ 1.5 LfLfLlLrlur]Bl=IB]IBIBlAJAlIB][-[—-]1-1—-1IB[=-]C
52 |dtim&E =B RELHEE BE Z=L 64, 065 5550 1164l fLr]LrfLrlurIBl=]B]BIB|l-]AlIB]-[—-]-]1—-1IB[=-]C
53 |dtimE =B RELHEE R yLy 64, 297 37,366 | 1.2 L[rfrlvr]vuv]BlBlB[BIB]I-[A][-]-1-1-]=-IB]-1]C
54 [dtimE =B RELHEE % HEY 63, 081 49451 [ 128 vfLrfLrfrlur]BlBIBIBlCc|IBlIA]l-]-[-]c]—-]TA[=]CcC
55 [duifm:E =B RELHEE 33X n3A 83,979 17394 [ 483l lLrlur]BlBBIBIB]l-]lA]l-]T-[-1-1—-1IB[-]C
56 [dLifEE| MWEDE RELHEE =& hhns 64,779 24038 | 269 L[LfLrLr]ur]B]l—=IB[Blc]—-]AJA[B]Jcl]c]cl]A]c]c
57 [deimE| #REIEE RELHEE B b5 MK S 312, 751 2.1 (27l =-1-1=-IBl-1-1TAl=-T-1-1lTcl[=IB]-]C
58 |dtim&E = RELHEE Z & BER 1,666, 050 133,554 (12471 L[ LLfLrlLr]B]B[BIBIB|l—-]A]Blc[—-]Jcl]clc[=]c
59 [dtimE = BRELEHEE AGEA =AW [1,572, 806 111,206 [14.13[LfLfLrfrlur]BlBIBIBIB]l—-]AlIBlc[—-Jcl]Jclc[=]c




